Al TONG SCHOOL
2021
END-OF-YEAR EXAMINATION
PRIMARY5
MATHEMATICS
PAPER 1

DURATION :  1h

DATE . 2 NOVEMBER 2021

INSTRUCTIONS

Do not turn over this page until you are told to do so.
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Paper 1 Booklet A — ' '
Questions 1 t0.10 can’n,;r 1 mark eac u Quastlons 1110 15 carry2 marks each.
For each question, four optlons are given. . One of them is the correct answer.
‘Make your cheice (1 2 3 or 4) and shade your answer on the Optical Answer Sheet.
S _ - (20 marks)

1 Write one million, one hundred and nine thousand and eight in numerals.

(1) 1009108
2) 1019008
(3) 1000108
(4) 1109008

2 Which one of the following fractions is in its simplest form?

3

0 Y

5 4
R

5

G

4 3]

“) 15

2
3 How many fifths are there in 12%; ?

(1) 19
(2) 2

3) 29
4) 62
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4  Whichofthe fbiiowﬁng_'céu’iﬁ.béthéﬁeight.d_fa cla‘s'_sroomddd{?*"'i';__'_' P BTG T

(1) 2t0cm
2 290m
(3) 2%cm
{4y 21m
5 In the number line below, what is the value of Q7
Q
SO05 W O O A0 00 (0 R O O 0 T T O I I
IllHI‘HHl'-i-ll1]1!“]“|Il
3.4 3.6 3.8
(1) 3720
(2) 3.710
{3} 3.660
(4y 3.651
6 What is the ratio of the number of star shapes to the number of heart shapes

to the total number of shapes in the box befow?

O % %
SNVR Sab (NS

{49y 9:12:3
{2y 3:9:12
(3) 4:1:3
(4y 3:1:4

ATS 2021 P5 Math End-of-Yesr Paper 1 2
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7 Whatisthe missingnumberinthe[ ]2

(1) 56
2y 28
(3) 13
(4) 10

8 Which of the Tollowing letters shown below does not have any line of
symmetry? ' IR

9 What is the value of (18 + 12+ 2) x 37

1) 20
(2) 36
(3) 45
4y 72

ATS 2027 P5 Math End-of-Year Papar 1 3
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40 The diagram below shows a road map.

Z peoy o A\

A car travelled along Road S towards the south. After tuming into ahother
road, the car was facing south-east. Which road did it turn into?

(1} RoadW
(2) RoadX
{(3) RoadY
(4) RoadZ

11 The average of 7 numbers is 70. One of the numbers is 180. What is the
average of the other 6 numbers?

(1) 330
(2) 150
(3) 55
(4) 15

ATS 2021 P5 Math End-cf-Year Paper 1 4
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12 Identicat rectangu!ar pieces eaah measurfng 3 cm by 10 cm were cut .out:- "

from a square piece of card. Three suéh rectangular piéces are showrn in the
figure below. What is the most number of such rectangutar p;eces that can
be cut out from the square piece of card? .

(1)
(2)
(3}
4)

- e e

uuuuuu ;““.“l‘“".éts Cm
g
10 cm
6
12
13
14

13 In the figure below, a rectangular piece of paper ABCD was folded albng AC.
_ ZDAC is 82°. Find ZDCB.

(1
(2)
{3)
(4)

62°
34°
31°
28°

ATS 2021 P5 Math End-of-Year Paper 1
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:R is filed w;th water to a height of 13 om at first

Cbhtamer S'is a 9-cm cubical container which is empty atfirst. '
- Afterpouring all the'water from container R into container S without spa!lmg, _
how much more water is needed to fill container S to the brim?
. :
13cm. i

8cm g cm

R S
(1) 209 cm’
2y 439cm?
(3) 520cm®
4y 729cm®

15 Points U, V, W, X, Y and Z are points drawn on a pair of parallei lines.
Points U, ¥ and Z have been joined to form Triangie UYZ.
Which 3 of the points shown can be joined to form another triangle with the
same area as Triangle UYZ2?

X Y Z
>— -

N

5 4
~

(1) U WandZ
(2y U, XandZ
{3y V.YandZ
(4 X WandZ
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Booklet B ' ' ' ‘
Questions 16 to 20 carry 1 mark each Write your answers in the spaces prcv;ded
For questions which require umts gwe your answers in the units stated.

5 m'a-rk'S) :

16 Find the value of 123.6 — 29.02

Ans;

17 5 children shared 4 pizzas equally. What fraction of a pizza did each child
get?

Ans:

ATS 2021 P5 Math End-of-Year Faper 1 7
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peciades in ’me ciass

Ans:

19 Express ; asa decimal. Give your answer correct to 2 decimal places.

Ans:

20 “There are 350 markers in a box. 12% of them are red markers.
How many red farkers are there in the box?

Ans:

ATS 2021 5 Math End-of-Year Paper 1 8
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Questions 21 10 30 carry 2 marks each. Show your working clearly in the space
provided for each question and write your answers in the spaces provided. For
questions which require units, give your answers in the units_ stated.

{20 marks}.

21 Johnny stacked 7 unit cubes to form the solid below.

Top View

Front View - Side View

Draw the ffont view and the top view of the solid on the grids below.

Front View

-» » L] - *
LJ L L ® -

> L] - - -

Top View
« * s o+ e s
¢ & e« s w s
« s+ % & o .
® * . . - -
+ &+ = & s s
T
L T
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22 Usealthedigis4,1,5,9toform :

(a) LT

Ans: {a)

®)

23 There were 140 red app es and some green app!es ina crate
For every 5 red apples there Were 2 green ones, How many apples were :

there in ai!?

AHS'Z

8 5 _
24 Daley had ?5 m of yarn. He used 5 of it to knit a small pouch. How many

metres of yam did he use?
Give your answer as a fraction in its simplest form,

Ans: m

ATS 2021 P5 Math End-of-Year Paper 1 10
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25 The table shows the parking charges at a car park.

T PARKING CHARGES _ B
For the first hour - $1.60
For every subsequent 5 hour or part thereof $0.90

How much did Mr Lee pay to park his car there from 2.40 p.m. to 5.00 p.m.?

Ans: $

26  Inthe diagram below, ABC is an isosceles triangle.
AC =BC, ZACY =132° and XY is a straight line. Find ZABX.

A
_132°
X y S Y
B C
Ans:
ATS 2021 P Math End-of-Year Paper 1 11
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- 27 The bar graph shows the nur

- BP-392

Vies watched by a group of children
_ daring the hohdays What perc tage of -the c:hlldren watched more than 2
movues’7 _ : o 5

" Nurﬁber
of
Chlld?'eﬂ

Nurnber of movies watehed

Ans: %%

28 Kate, Meg and Liz have an average mass of 49 kg. William and Henry have
an average mass of 62 kg. What is the average mass of the five children?

Ans: kg

ATS 2021 P5 Math End-oi-Year Paper 1
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are grid below.

)

N

5 N
P,
R
o

(a) inthe grid, draw a rectangle that has an area 4 times the
area of Triangle A. This rectangle must not overlap with any of
the triangles shown.

(b}  Name all the triangles that have the same area.

Ans: (b)

ATS 2021 P5 Math End-of-Year Paper 1 13
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30 Atfirst, Pavani had 30 fewsr stickers than En Ling. After En Ling gave:
* Pavani some stickers, Pavani b s stickers than En'Ling. -
- How many stickers did En Ling gi 7o

Ans:

End of Paper
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Pa e _ R
Questions 1 to 5 carry 2 marks each Show your working clearfy in the space provrded
- for each questlon and write your answers inthe spaces: prowded Fcer questfons which
'requzre units, give your answers m the umts stated SR , (10 marks)

1 Write down one decimal wi_th- a véiue be_tw_een 7.8 and?lg

Ans:

2 Whatis the price of the headphones after adding 7% GST?

$495 Y,
- (GST notincluded) {#

Ans: $

3 8 kg of rice was repacked into small packets. Each packet contained 200 g of
rice. How many such small packets of rice were there?

Ans:

ATS 2021 P5 Malh End-of-Year Paper 2
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4 Yasmin made 90 sandwiches for a picnic. !beeiféry 20 sandwiches, she used
6 eggs. How many eggs did she use altogether? '

Ans:

5 Rectangle ABCD is made up of 1 big shaded rectangle and 5 identical smaller
unshaded rectangles. The area of the shaded rectangle is 35 cm?and the
length of DC is 15 cm. What is the area of Rectangle ABCD?

35 cm?

Y
O

15cm

Ans: cm?

ATS 2021 P5 Math End-of-Year Paper 2
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' For questions 6 to 17 sht}w your warkmg c!eady in the s;:ace prowded for each

' -questson and write the answers. in the spaces provided The niumber.of marks aval fable

i5 shown in the brackets | ] at the enzi of each quest!on or paré-questton
_ R ' (45 marks)

6 In the figure below, AOC and BOD are s’tra.igh{ hnes
ZA0D = 87° and £ZDOE = 151°. Find £EQC.

Ans: [3]

7 David wants to buy some erasers and pencils with a sum of money.
tf he buys 8 erasers and 6 pencils, he will have $3.50 left.
if he buys 28 erasers and no pencils, he will have no money left.
Each pencil costs $1.25. How much money does David have?

Ans: {3]

ATS 2021 P8 Math End-of-Yoar Paper 2
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s - Ja‘net spent 5 of her money on'5 :dent;cal pairs of socks and of the remammg
o amnuni ona {;ap The cap cost $9 75. How much d;d each pa:r of socks cost?

Ans: {3}

ATS 2021 PS5 Math Enc-of-Year Paper 2
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9  Intne figure below, ABCD is a parallefogram.
BC = BE, ZAEB = 73° and ZADE = 115°.

A

(a)  Each statement below is either true, false, or not possibie to tell from the
information given. For each statement, put a tick (»”) in the correct

column., {11
_ Not
Statement True False | possible
to tell

ZADC and ZABC are equal.

ZBAE and ZAEC add up to
180°. :

Triangle ABE is an isosceles
| triangle.

(b)  Find ZDAE.

Ans : (b} [2]

ATS 2024 P5 Math Ergd-pf-Year Paper 2
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oney at a Sharity event.
n’{ii 5_[) cfona;ed a total of $208.

Ans: {3]

ATS 2021 PS Math End-of-Year Paper 2
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11 | Last week, a shop sold a different number of cups of bubble tea avery day from

Monday to Sunday. It sold the fewest cups of bubble tea on Thursday.

The table below shows the number of cups of bubble tea sold at the shop from
Monday to Friday only.

Monday

Tuesday

Wednesday

Thursday

Friday

160.

134

100

95

156

(a) Whatis the average number of cups of bubbEe tea sold from Monday to

Friday?

(b)  The number of cups of bubble tea sold on Thursday was 87 less than the
average number of cups of bubble tea sold on Saturday and Sunday.

Write down one possibie set of values for the number of cups. of bubble

tea sold on Saturday and on Sunday.

Ans: (a}

and

ATS 2021 P5 Math End-of-Year Paper 2
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S, square PQUV and rectang!e |

L he square has an area of 121 cm2

' | What ls the area- Qf ‘thé shaded nang 6

Ans: (4]

ATS 2021 PS5 Math End-of-Year Paper 2
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13 sam had $900 at the end of June. He spent some of this amount from July to

L _'Ocmber The line graph below showg the amount cf money he had left at the
- end Gf each mcnih : S

1000
900 e
2 Do
B
800 —
S
e
: —
700 = e
“Amount e S~
Cof 800 e IS ——_., -t
roney - — — ' i
JRCI B — ; \
: —
300 -
200
100
0 - :
June July August September October

(a) How much did he have left in October?
{b)  How much did he spend in July?

(c}  What was the ratio of the total amount he spent from dure to October to
the amount he had left in the end?

Give your answer in its simplest form.

Ans; (a) (13
(b) (11
(<) [2]
ATS 2021 P5 Math End-of-Year Paper 2
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m by 65 cm by 24 cmwas ptaced ;_'
under 2 taps. Tap A was turned on firs ith-water filling. thetankatarateof -~ .

3 £ per minute. After 10 minutes, Tap B _tumed ontoo, With water fi Hing S
the tank at a rate of 1.74 £ per mmute The.z taps were ’wrned cﬁ once the BT T
tank was filled to the bnm R _ Lo

14 An empty reclangu!ar tank measu_ |

(a) ch much water was needed to ﬂii the tank to the brim?

(b) For how long was Tap B ‘tu_me:d' Qn'?--

Tap B
- NwTa’pA | 24cm B
65¢cm
Ans; (a) . [1]
(b} (3]
ATS 2021 P5 Math End-of-Year Paper ¢
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15 Aunt Stacey baked some buns 1o sell: = of the buns were butter buns and the

" restwere cheese buns: After= of t

&

buttter buns and 42 chease buns were
© sold, she had zofall thebuns feft.

(a) How many buns did she bake in all?

(b)  What fraction of the: buns soid were cheese buns?
Give your answer in its simplest form.

Ans: (a) (3]

(o R— [2]

ATS 2021 P5 Math End-of-Year Paper 2
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16 50 boxes were used 1o pack a total of & 471 caicuiatcrswnd board garnes ata an i
event. Each box contamed gither’ an{y 25 ca cufatﬁrs oronly 6 board games G

(a) Were there more calcuiatms or more boafd games in al!"’
Circle the correct ltem in the answer blank

(by  How many more?

Ans: (a) calculators / board games [1]
( Circle the comect item )

(b) 3]

ATS 2021 P5 Math End-of-Year Paper 2
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17 The figures below ars fo

F’igure 1

The table below shows the number of [inés, ovals and rectangles used to form

each figure.
Figure Number | Numberoflines | Number of ovals Number of
: . rectangles
1 4 4 1
2 8 7 2
3 12 10 3
4 16 13 4

(a) How many lines are there-in Figure 57
(b}  Which figure number has 112 lines?

(¢}  Afigure has 51 rectangles. How many ovals are there in this figure?

Ans: (a) (1]
(b) (2}
(c) [2]
ATS 2021 P& Math End-of-Year Paper 2 End of Pa per
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SCHOOL Al TONG PRIMARY SCHOOL
LEVEL : PRIMARY 5

SUBJECT : MATH

TERM 2021 END OF YEAR

PAPER 1 BOOKLET A

Q1 | Q2 | @3 [ @4 [ @5 | @6 | Q7 | @8 | @9 | Q10
4 3 4 1 1 4 2 1 4 4
Q11| Q12 | Q13 | a14 | Q15
3 2 2 1 3

PAPER 1 BOOKLET B

Q16) | 94.58

Q17) | *
_ 5

Q18) [ 5:7

Q19) | 0.29

Q20) | 42

Q21) | Front view

Top view

Q22); a) 1495

b) 4951

Q23) [ 140 + 5 = 28

28x2 =56

Pel
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56 + 140 = 196
Ans: 196 apples

Q24)

9

Q25)

090x3=270
2.70 + 1.60 = 4.30
Ans: $4.30

Q26)

180 + 32 = 48
180 - 48 =132
132 +2 =66
180 - 66 =114
Ans: 114°

Q27)

7+8=15
15+ 5=20
20+3=23
23+2=25

25 +100=0.25
5+3+2=10
6+0.25=40
Ans: 40%

Q28)

49 x 3 =147
62x2=124
124 + 147 = 271
271 +5=54.2
Ans: 54.2kg

Q29)

(b) A, B, D

Q30)

30+2=15
62+2=3
31+15=46
Ans: 46 stickers

PAPER 2

Q1)

7.8 + 0.056=7.85
Ans: 7.85

Q2)

495 + 100 = 4.95
4.95 x 107 = 529.65
Ans: $529.65

Q3)

8kg is equivalent to 8000 grams
8000 = 200 = 40
Ans: 40 small packets

Pg2
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Q4)

20+2=10
6+2=3
3x9=27
Ans: 27 eqgs

Q5)

35+5=7
15-7=8
8=-2=4
4x5=20

20 x5=100
100 + 35 =135
Ans: 135cm?

Qs)

180 -97 =83
151 -~ 83 =68
Ans: 68°

Q7)

6x1.25=7.5
7.5+3.5=11
11 +20=0.55
0.55x28 =154
Ans: $15.40

Qs8)

3,13
2 10
4

'i"o— .
9.75+3=3.25
3.25x4=13
13+6=26

Ans: $2.60

5
z—
5

Q9)

a) Angle ACD and angle ABS are equal: True
Angle BAE and angle AEC add up to 180 degrees: True
Triangle ABE is an isosceles triangle: False
b) 180-115=65
180 -73 =107
107 -65=42
42 + 115 =157
180 — 157 = 23
Ans: 23°

Q10)

6—1=5
380 + 208 = 588
a) 588 +7=84
Ans: $84

Qtl)

b} 160 + 134 = 294
294 + 100 = 394

394 + 95 =489
489 + 156 = 645
645 +5=129
Ans: 129 cups

95 + 87 = 182

182-1 =181

182 +1 =183

Pg3
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Ans: 181 and 183 cups of bubble tea

Q12)

121+11=11
11x3=33

X (11+33) x 11 =242
2% 33x20 =330
20-11=9
2x9x11=495

495 +121=1705

22 x 33 =660

660 + 170.5 =830.5

830.5 - 242 — 330 = 258.5
Ans: 258.5 cm?

Q13)

a) $340

b) $120

c) 900 - 340 = 560
Ans: 28 ;17

Q14)

65 x 80 x 24 = 124800
3x10=30

30 x 1000=30000
124800 — 30000 = 94800
3+1.74=4.74

4.74 x 1000 = 4740
94800 + 4740 = 20

Ans: a) 124800m¢ b) 20 minutes

Q15)

a) Butter: 5u x 5 = 25u
Cheese: 32u—-25u=7u
42+7=6
40 x 6 =240
Ans: 240 buns

b} 32 x 16= 142

Q16)

a) Board Games
h) 50 x 25 = 1250
1250 -471 =779
25-6=19
779 +19=41
41 x6 =246
471 - 246 = 225
246 — 225 = 21
Ans: 21 Board games

Qi7)

a) 16 +4=20
Ans: 20 kines
b) 112-20=92

Pga
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92+4=23
23+5=28
Ans: Figure 28
c} 51-1=50
50x 3 =150
150 + 4 =154
Ans: 154 ovals

Pg5
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